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Solved Examples

1. Evaluate : 2tan® 45° + cos? 30° — sin® 60°

° Watch Video Solution

2. Prove that
3 25
%taxﬁ 30° + sin?60° — 3cos260° + Zta,m2 60° — 2tan®45° — %

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ZguBRMxZQ3R8
https://dl.doubtnut.com/l/_M63QFgROppvv
https://dl.doubtnut.com/l/_yebYe4OHWmDI

3.Find the value of x if tan 3 x =sin 45°cos 45° + sin 30°

° Watch Video Solution

4. Without using trigonometric tables, show

cos 70°

——— + c0s49° cosecdl® =2
sin 20

that

° Watch Video Solution

5.Evaluate : tan 7°tan 23° tan 60° tan 67° tan 83°

° Watch Video Solution

6. The value of (tan 1°tan2°tan3°...tan89°) is

° Watch Video Solution



https://dl.doubtnut.com/l/_yebYe4OHWmDI
https://dl.doubtnut.com/l/_2qpASj2KIieS
https://dl.doubtnut.com/l/_aFSctjtoH9P8
https://dl.doubtnut.com/l/_eqWrQzau75Hg

7. If sin30 = cos(f —6°), where 30 and (0 — 6°) are acute angle

then the value of @ is

o Watch Video Solution

8. Show that

1 1

+ = 2cosec?(90° — 6
1+ cos(90° —0) 1 —cos(90° —0) ( )

° Watch Video Solution

Question Bank 33

1.v20

A.tan90°

B.1

C.sin45°


https://dl.doubtnut.com/l/_vZY0g5yulgSq
https://dl.doubtnut.com/l/_ZdNxePWMsMQy
https://dl.doubtnut.com/l/_EGeBDNhYyarQ

D.0O

Answer: D

° Watch Video Solution

sin30° + cos 60°

- , then the value of x is :
tan60° + sin60°

2.1f xtan 30° =

@ >
| o w w| o
«lw§|‘°
w

N

o

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EGeBDNhYyarQ
https://dl.doubtnut.com/l/_ITOA9kOAUCbT

3. The value of sin 0° + cos30° — tan45° + cosec60° -+ cot 90° is

equal to

573 _ 6
A_\/_T

—6 4+ 7/3
B.————

C.o

D. 2

Answer: B

° Watch Video Solution

4. If 2sin®z + cos®45° = tan45° and z is an acute angle, then the

value of tan x is :

Al

B./3

@


https://dl.doubtnut.com/l/_hcJERZg4ilTn
https://dl.doubtnut.com/l/_jLO9HucjCXdT

D.3

Answer: C

° Watch Video Solution

5.The value of asin 0° + bcos 90° + ctan45° is

A.a+b+c

B.b+c

Answer: D

° Watch Video Solution

sin30° — cos 60° + tan45° .

6. The value of = is
cos 90° + tan45° + sin90°



https://dl.doubtnut.com/l/_jLO9HucjCXdT
https://dl.doubtnut.com/l/_6yPDdfq5pNOT
https://dl.doubtnut.com/l/_FueyUjkVXfzp

Answer: D

o Watch Video Solution

7. The value of

1-2 0 Q32 o 2 o 2 o 1-2 o 2 o s .
2sm 90° sin“ 30° cos“45° + 4tan“30° + 2sm 90 2c0s“90° is:

N
" 24

;. 46
" 24

o
" 24

o 49
" 24

Answer: C



https://dl.doubtnut.com/l/_FueyUjkVXfzp
https://dl.doubtnut.com/l/_70ZsEZ9BSl1K

| ° Watch Video Solution

8. The value

(cos0° + sin45° + sin30°)(sin90° — cos45° + cos60°) is

A.O

B.1

(CY SN |

Answer: C

of

° Watch Video Solution

tan60° — tan 30°
"1+ tan60°tan 30°

equal

A.tan60°

B.tan0°


https://dl.doubtnut.com/l/_70ZsEZ9BSl1K
https://dl.doubtnut.com/l/_TIkpEUJGqpI3
https://dl.doubtnut.com/l/_Y6kvGXO68ixY

C.tan30°

Answer: C

o Watch Video Solution

10. Find the value of x, if

sin2x = sin60°cos 30° — cos 60°sin 30°

A.20°

B.15°

C.30°

D.45°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Y6kvGXO68ixY
https://dl.doubtnut.com/l/_VcpkVD7GxDp2
https://dl.doubtnut.com/l/_sEX8mfpMWFOB

M.tan26° — cot 64° equals

B.1

C.o

D. 2

Answer: C

° Watch Video Solution

12, sin19° cos 73°
cos 71° sin17°
A.O
B.1
C.2


https://dl.doubtnut.com/l/_sEX8mfpMWFOB
https://dl.doubtnut.com/l/_fdvIBoVcYfTl

Answer: C

° Watch Video Solution

13. Consider the following equations :

cos 75° sin12° cos ecl8°

" sin15° cos 78° sec72°
tan50° + sec50°

" cot 40° + cos ecd0°

S80 59°sec31° = 0
cos 10

+ cos40° cosech0® = + 2

Which of these statements given below is correct

A.1onlyis correct

B. 3 onlyis correct

C.All 1,2 and 3 are correct

D. 2 and 3 are correct

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fdvIBoVcYfTl
https://dl.doubtnut.com/l/_61AyPiLM1aQF
https://dl.doubtnut.com/l/_PpGhEGJNviWt

14.sin” 25° + sin® 65° is equal to
A.O
B. 2sin’ 25°
C. cos? 65°

D.1

Answer: C

o Watch Video Solution

15.1f sin(30° — 0) = cos(60° + ¢) , then

A¢p—6=30°
B.¢g —0=0°
C.o+6=260°

D.¢ — 6 = 60°


https://dl.doubtnut.com/l/_PpGhEGJNviWt
https://dl.doubtnut.com/l/_14AlKdm7yyF4

Answer: D

° Watch Video Solution

16. The value of cot 15° cot 16° cot 17°

A1
"2
B.O

C.1

Answer: B

cot 73° cot 74° cot 75° is :

° Watch Video Solution

17.1f sin @ = cos 0, then value of @ is :

A.60°



https://dl.doubtnut.com/l/_14AlKdm7yyF4
https://dl.doubtnut.com/l/_Zvq1GLHEEksq
https://dl.doubtnut.com/l/_YVgmNyVbnL5C

B.0°

C.45°

D.90°

Answer: C

o Watch Video Solution

18. Value of cos® 5° + cos® 10° + cos2 80° + cos® 85° is

Al

B.O

C.2

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YVgmNyVbnL5C
https://dl.doubtnut.com/l/_GrCL5KAqE0UU
https://dl.doubtnut.com/l/_vPwnciDeVMAc

19. If sin 30 = cos(6 — 2°) where 30 and (6 — 2°) are acute angles,
what is the value of 6 ?

A.22°

B.23°

C.24°

D.25°

Answer: C

o Watch Video Solution

1
20.Iftan# = 1 and sin¢ = E , then the value of cos(0 + @) is


https://dl.doubtnut.com/l/_vPwnciDeVMAc
https://dl.doubtnut.com/l/_vVRM5Me7yyed

Answer: B

° Watch Video Solution

21.1f £cos 60° + ycos 0° = 3 and 4xsin30° — ycot 45° = 2, then what

is the value of x ?

B.O

C.1

D.2

Answer: D

° Watch Video Solution

22. Which one of the following is true ?


https://dl.doubtnut.com/l/_vVRM5Me7yyed
https://dl.doubtnut.com/l/_pyYWSO0Ksh1T
https://dl.doubtnut.com/l/_30zkXCqQsMPQ

Atanz > 1,45° <z < 90°
. I o
B.sinx > 5,0 <z <30
1
C.cosz > 5,60o <z <90°

D. sin x = cos x for some value of z, 30° < x < 45°

Answer: A

o Watch Video Solution

23.If x + y = 90° , then what is

\/cos x cos ecy — cos x siny equal to

A. cos X

B.sin x

C.. /coszx
D. v/sinx

Answer: B



https://dl.doubtnut.com/l/_30zkXCqQsMPQ
https://dl.doubtnut.com/l/_bTore2O3JgUI

| ° Watch Video Solution

1
24.1f0° < 6 < 90° and cos?6 — sin’ 6 = 2 then what is the value of

67?

A.30°
B.45°
C.60°

D.90°

Answer: A

° Watch Video Solution

25.The value of sin®(90° — 6) [1 + cot®(90° — )] is

A -1

B.O


https://dl.doubtnut.com/l/_bTore2O3JgUI
https://dl.doubtnut.com/l/_aRCRMDBwKZVA
https://dl.doubtnut.com/l/_mGxEax1cZ9B6

Answer: D

o Watch Video Solution

Self Assessment Sheet 32

1. Which of the following is not defined ?

A.sin90°

B.tan0°

C.cos 90°

D. cos ec0°

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mGxEax1cZ9B6
https://dl.doubtnut.com/l/_xglompJqmpUg

sin 60°

cos2 45°

2. What is the value of — 3tan30° + 5cos 90°

Al

Answer: D

° Watch Video Solution

3. The value of 24/2c0s 45° - cos 60° + 2,/3sin30°tan60° — cos0° is

D.O


https://dl.doubtnut.com/l/_xglompJqmpUg
https://dl.doubtnut.com/l/_w1XDi63OeTtv
https://dl.doubtnut.com/l/_igl0IsHJIEcb

Answer: B

° Watch Video Solution

4.1f 2cos = /3 evaluate 3 sin § — 4sin’ 4

D.2

Answer: C

° Watch Video Solution

5.What is the value of
sin2°sin4°sin6°. ... sin® 88°
cos 88°cos 86°cos 84°. . .. cos 2°

(Do not use trigonometric tables )



https://dl.doubtnut.com/l/_igl0IsHJIEcb
https://dl.doubtnut.com/l/_DBNtznGVA6BG
https://dl.doubtnut.com/l/_HCWNNDeeqmCJ

A.O

B.1

C.2

D.4

Answer: B

o Watch Video Solution

o . tanxz \ . ,
6.1f x +y = 90" , then what is the value of { 1 + tany sin“y ?

D. 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HCWNNDeeqmCJ
https://dl.doubtnut.com/l/_F4neQQgOzyB3

7.1f sin A=cos Aand Ais acute, tan A-cot a is equal' to :

A2

B.1

Answer: D

o Watch Video Solution

8. Without wusing trigonometric tables, find the value of

p ° 1
_( sec 56 _ > — 2¢c0s220° + —cot 28° cot 35° cot 45° cot 62° cot 55° — 2
3 \ cosec34 2

A4
"5


https://dl.doubtnut.com/l/_F4neQQgOzyB3
https://dl.doubtnut.com/l/_8H8EhdfsJ4Ev
https://dl.doubtnut.com/l/_yw5fLFttMjim

Answer: C

o Watch Video Solution

9.If 11z is an acute angle and tan 11 x = cot 7 x , then what is the value of

x?

A.5°

B.6°

c.7°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yw5fLFttMjim
https://dl.doubtnut.com/l/_cjYhGtoRThdv
https://dl.doubtnut.com/l/_fXsiz9QMeK82

10. Evaluate
sin(50° + 0) — cos(40° — #) + tan1°tan 15°tan 20° tan 70° tan 65° tan 89°
A.O
B.1
C.2

D.3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fXsiz9QMeK82

